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1RPRU�0DKDVLVZD�������������������GDQ�����������

1DPD�0DKDVLVZD���������$PDQGD�GDQ�0RQWLDUL�5DVKLG

3URJUDP���$QJNDWDQ�� ���:0���

-XGXO�7KHVLV �� 6WUDWHJL� 3HPDVDUDQ� 6QDFN� %DUV� 37�� 7LJD� 3LODU� 6HMDKWHUD� )RRG�� 7EN�� XQWXN�

6HJPHQ�$QDN�0XGD�GL�-DERGHWDEHN����������

3RNRN�3HUPDVDODKDQ��

'DODP� SHQXOLVDQ� WHVLV� LQL�� GLEDKDV�PHQJHQDL� SHQ\XVXQDQ� NRQVHS� SURGXN� VQDFN� EDUV� \DQJ�

GLSDVDUNDQ� ROHK� 736� )RRG� VHUWD� VWUDWHJL� SHPDVDUDQ� XQWXN� SURGXN� EDUX� VQDFN� EDUV� GL�

-DERGHWDEHN� ����� � ������ 0HWRGH� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� DGDODK� PHWRGH� SHQGHNDWDQ�

NXDOLWDWLI�GDQ�NXDQWLWDWLI��'L�ELGDQJ�SHPDVDUDQ��EDLN�SHQGHNDWDQ�NXDOLWDWLI�PDXSXQ�NXDQWLWDWLI�

VXGDK�EDQ\DN�GLJXQDNDQ�SDGD�SHQHOLWLDQ�\DQJ�EHUNDLWDQ�GHQJDQ�SHQJHPEDQJDQ�SURGXN�EDUX�

GDQ�VWUDWHJL�SHPDVDUDQ��6HODQMXWQ\D��QHZ SURGXFW GHYHORSPHQW GLJXQDNDQ�XQWXN�PHQMHODVNDQ�

WDKDSDQ�WDKDSDQ� SDGD� SURGXN� EDUX� \DQJ� PHQJKDVLONDQ� NRQVHS� SURGXN� EDUX�� 'HQJDQ�

GHPLNLDQ�� VWUDWHJL� SHPDVDUDQ� \DQJ� GLKDVLONDQ� GDSDW� PHQHQWXNDQ� 6HJPHQWLQJ�� 7DUJHWLQJ��

3RVLWLRQLQJ �673��GDQ� VWUDWHJL� �3� \DLWX�SURGXFW �SURGXN���SULFH �KDUJD���SODFH �SHQHPSDWDQ�

ORNDVL�± GLVWULEXVL���SURPRWLRQ �SURPRVL��

.DWD�.XQFL��6WUDWHJL��3HPDVDUDQ��6QDFN�EDUV��$QDN�0XGD��-DERGHWDEHN��3HQJHPEDQJDQ�

SURGXN


